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10°

4 a 2 COOH 2

b 2 OH

c 1 4

d 6

7°
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6 (1) (2) COD

COD =

5.00× 10 3 mol/L× 12.5 mL
¼MnO4 (mmol)

× 5

1

¼e (mmol)

× 1

4

¼O2 (mmol)
× 32 g/mol

¼O2 (mg)

0.500 L
= 5.00 mg/L

8°

7 H2O Ca(OH)2

Ca(OH)2 + 2NH4Cl CaCl2 + 2NH3 + 2H2O (a)

CaCO3 CO2 + CaO (b)

NaCl + H2O+NH3 + CO2 NH4Cl + NaHCO3 (c)

2NaHCO3 Na2CO3 + CO2 +H2O (d)

3°

8 7°



9 (3) CO2 Na+ NH4
+ Cl HCO3

4 NaHCO3

6°

10 N2 + 3H2À 2NH3

7.0 kL× 0.80
22.4 L/mol

º

N2 (kmol)

× 2

1

º

NH3 (kmol)

× 17 g/mol
º

NH3 (kg)

= 8.5 kg

4°

11 (d)

8.4 kg

84 g/mol

º

NaHCO3 (kmol)

× 1

2

º

Na2CO3 (kmol)

× 106 g/mol
º

Na2CO3 (kg)

= 5.3 kg

5°

12 (a) (c)

8.4 kg

84 g/mol

º

NaHCO3 (kmol)

× 1

1

º

NH3 (kmol)

× 1

2

º

Ca(OH)2 (kmol)

× 74 g/mol
º

Ca(OH)2 (kg)

= 3.7 kg

5°

13 (c)

8.4 kg

84 g/mol

º

NaHCO3 (kmol)

× 1

1

º

NH3 (kmol)

× 17 g/mol
º

NH3 (kg)

= 1.7 kg

1°

14 a

b

c

d

2°

15 a RCOONa RCOO

b

c

d

8°

16 a

b SDS CH3(CH2)11OSO3Na

c

d

9°

17 B x

20.8 g

(92 + 3x 3× 18) g/mol
º

A (mol)

× 3
º

B (mol)

=
19.9 g

x g/mol

º

B (mol)

x = 280

6°



18 B 1 C=C y

4.20 g

280 g/mol
× y =

(4.26 4.20) g

2 g/mol

y = 2

B C18H32O2 B A

C3H8O3 + 3C18H32O2 C57H98O6 + 3H2O

6°
19 A 878 S

S mg =
1000 mg

878 g/mol

º

A (mmol)

× 3
º

KOH (mmol)

× 56 g/mol
º

KOH (mg)

= 191 mg

5°

20 SiO2
Si O

Si O

CH3
10°

21

3°
22 66

2°
23

2°
24

1.00 g× 8.30× 103 Pa · L/(K ·mol)× 300 K
3.00× 102 Pa× 0.100 L = 8.30× 104 g/mol

6°
25 n n n

2n

192n = 8.30× 104
2n = 865

10°

25

YMS

VSEPR

COD

80 %


